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Revenue = $5,304,375

To calculate the marginal revenue function the demand function must
first be established.

P=a-bx

b=3/10,000=0.0003
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45 = a - 0.0003*125,000. Therefore, a = 82.50

P =82.50 - 0.0003x

MR = a - 2bx, MR = 82.50 — 2*0.0003x

Profit is maximised when MR = MC

MC =$21

21 = 82.50 — 2*0.0003x. Therefore x = 102,500

Substitute the value of x into the demand function to get price
82.50 - 0.0003*102,500 = $51.75

Revenue = $51.75 * 102,500 = $5,304,375
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Answer:
1. Return on total assets:
Net income + [Interest expenses x (1 — Tax rate)]
Return on total assets=

Average total assets
$672 + [$0 x (1 —0.36)]
= = 13.8% (rounded)
(S5,344 + 54,429) / 2
2. Return on common stockholders' equity:
Net income - Preferred

dividends
Return on a common stockholders' equity =
Average common stockholders'

equity
S$672-S0
= = 29.8%
(rounded)
(52,284 + 52,228) /2

3. Current ratio:

Current assets

Current ratio=
Current liabilities
51,696
= =0.79 (rounded)
$2,156

4. Acid-test ratio:
Cash + Marketable securities + Accounts receivable + Short-
term notes receivable

Acid-test ratio =
Current liabilities

$281 + $157 + 5288 + SO
= = 0.34 (rounded)
$2,156
5. Inventory turnover:

Cost of goods sold
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Inventory turnover=
Average inventory balance

$3,999
= = 6.02 (rounded)
(5692 + $636) / 2

6. Average sale period:
365 days
Average sale period =
Inventory turnover
365 days
= =61 days (rounded)
6.02

7. Debt-to-equity ratio:
Total liabilities
Debt-to-equity ratio=
Stockholders' equity

$2,156 + $904
= = 1.34 (rounded)
$2,284

4 éJ ddlal)

slelS A g apiaill slie) (amy paai ol | (Z) @ie el Ja b Qisag)y AS il a6
alall 4550 453 50 alae) 8 A AS i) RIS ol 4nl gy 3 pnie ) AL 3l # Ll
dlabinall 3 dball pe adiaill clie) (e 3 uaiall g ALEN paliall aaad 8 e yrg Jaiall
Aol e (Y 10 I edSU Al il slaalls oS 53 33 &5 35 Mixed factory overhead

2”9@‘ shed] Glas gl dae )
Pl X Aaiid o)
Y ddalisall i
800 $ 1,500 1
1,000 2,000 2
1,350 3,000 3
1,250 2,500 4

(5...41..«3\
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1,300 3,000 5
1,200 2,500 6
1,400 3,500 7
1,250 3,000 8
1,150 2,500 9
800 1,500 10
500¢11 $ 000¢25

1 stlaall
aal) 43 o aladiuly Adalinal) 5 bl e daeliall cle Yl (e s priall g AN jualiall aiaas

(%8.5) High-low-method ..le¥ls SV

Answer:
X y
High 3,500 units $1,400
Low 1,500 800
Difference 2,000 units S 600

Variable rate: $600/2,000 units = $0.30/unit.
Fixed element:

High Low

Mixed overhead $1,400 S800
Variable (50.30/unit) 1,050 _450
S 350 $350

Therefore the formula is:
$350 fixed + $0.30 per unit

sdeuald) Adlecal)

A dpa pand) A aall iy o S o U O jlans 4S5

$ 000:280 A glaiall by gllaall
000¢120 716 cqdall datie Gl
000¢200 peeall BpanY) Aal) § 10067414 3 )lian agsl
000¢420 26 800416 peall Lpanl) daidll § 25 cAplall ags¥)
240,000 alal) pen¥) e laal 3 e
000¢180 5 524l C\.}j‘}[\

Cpadliall (5 g8a Caly 740 568 A pall Jare Wl $ 0006160 <) _pall J8 Jaal) ded aly
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rcbial (a3 .$ 35 Lalal) wend) (e agaall (3 5udl Ja W) $ 0004800 el alall 8
Jaal) ila (i

EJ'UAAS\ ?@»Y\ C\.}J\ :L.u.a.'a\ (g_u

rs@.ul\ 4,3;.1) (.A
Price — earnings ratio sl ) jaud) 4 (5
(714) a5l agndl 4y yiaall el (5
Solution
(a) Income before taxes $160,000
Taxes (40% rate) 64,000
(b) Net income S 96,000 14% x
$200,000 = $28,000
(c) Common stockholders’ equity:
Common stock $420,000
Premium on common stock 240,000
Retained earnings 180,000
Return on Common stockholders’ $840,000 common
stock = Net equity income —
preferred dividends

Average common stockholders’ equity
= $96,000- $28,000
(S800,000 + $840,000)/2
= $68,000 =0,08
$820,000
(d) Earnings per share = Net income — preferred dividends
Common stock outstanding
= $96,000- $28,000 = $4,05

16,800 shares
(e) Price — earnings ratio = Market price per share = $35,00 = 864 times
Earnings per share $4,05

(e) Book value per share = stockholders’ equity — preferred stock
Common stock outstanding

= $840,000 = S50 per share
$16,800 shares
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